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1. Let ¥ be a matnx of order 3% ¥ be

a matrix of order 2x 3and 2 pa 5 matri
of order 3x2. Which of e rﬂl]]l:r“"il'lx
gtalements &are correct? "

I. [EY)X iz defined and

I iﬂ £ q unm
matrix of arder 3, A

. Y{XZ) iz defined and is g

: SOuare
matrix of order 2,

i, X{¥Z) is not defined,

Select the answer using the code given
helow,

ja) Tand II only
by T and I only
fc)+ 1 and 111 only

fd 1, Weand 11

2. Consider the following statements @ -

I The set of all irrational numbers =
between 412 and /15 is an infinite

aet,

1l. The set of all odd integers less'than "

1000 153 a fnite set.

Which of the statements given ahnve

iafare comrect?

fa) Teniy
(b 1 only
{e} Beth 1 and 11

fd] Neither 1 nor 11

SURN-B-MTH/814

3. How many 4-digit numbers 8¢ there

having all digits as odd?
fa). 625
fb) 400
fe} 196

{d) llﬂﬂ

o o=t s a cube toot of umty, then
Wﬁat ig (14 =10
equal to?

illl}ﬂ Fl-a+ uE-IJDD

: Bl ,;1' s ;P
Let A and B be two, squara matrices of

- same order. If ABis a mull matrix, then

which one of the following is correct?

(a) Both A and B are null matrices

(¢ Bis a null matrix if 4 {s a nen-
singular matrix

{d] Beth Aand Bare singular matrices.
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a. ]-1‘1 the expEﬂ"lEiUl‘i of ll +x}P {1+ x‘iq. if the

coefficient of X ® ia 35, then what is the
vglue of (P* q)?

faj 5
) 6
(c)
(d) &
7. ¥ ptimes the pth term of an AP i equal

to gtimes the gth term (p = g), then what
is the [p+4ith term equal to?

fe) pa

fd) palp~ g

8. Let p=Inix), g=In{x%) and r=mnx%),

where x> 1 Which of the following
2 statements isfare correct?

, [. p,gandrare In AF.

b :

E 1. p, gand r can never be m GP. -
ﬁ -
E Select the answer using the cods given
A below.

;

%, jg) 1 only

-

b b} 1 only

2

EL &) Botiland I

E (d) Neither T nor 11

E

P2 SUR-B-MTH/BIA

?

gl II
1i 2 1
3=‘32|' 3 2 =x4iy;i=4~1
31 3

then what is modulus of Z equal to?

fa) 1
)
fe} 2

10. 1.‘-""1&113 the yalue of the sum
Ty gn _. ! :
I'.E-li:'n—l +i" +iﬂ.+l]
Rt

~where T=4-17
(o) 2t
B
e 1

{dl 2

[PT.0.
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[ 11 Let xs ), gl 2> ] be in Gp Then

I I PR
l+inx 1ty ltinz

[

(e} im AP
i) in GF
f&) in HF

(@ neither it AP nor in OF nor in Hp

Nl
2

m=—1+i

then what is

15-.
&7
P | .
I |J+m 12w m+a®
) :
N 1 1 ;
¥ T A
A | & @?
!
B
i gqual to?
“'- (a1 B
; fa) O
F‘.
i B w
E::_i-' (Cj {.DE
o
b=
v {d 1-u*
s
7
b7
/) BURN-B-MTH/81A
T
b7
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13. I the sum of the firet r torms of

A gerics is nZn+ 1), then whal is the
mh trrm?

i) 4n-|
B An
fal 4m+1

el dn+3

14. In how many ways can the letters of

the word INDIA be permutated sueh
that in each combination, vowels should

accupy odd positions?
fal 3
(B 6
fct 9

fd 12

15. The letters of the word EQUATION are

arranged in such a way that all vewels
as well as consonents are together,
How many such sirangements are
there? ]

fal 240
)+ 720
el 3#40"

(d) 1620

[P.T.0.




16, I n is a rmot of the equatign

x% 4 pr+m=0and m i3 & root of the o C;iii_fil:;thn following in respect of the
equtalion x? +px+n=0, where mp 1, '
then what is the value of p+mepn? 0 & «b a® ab ac
P=l-¢ 0 al| and Q=|ab 5% be
-I'Iﬂj -1 k -2 .D P Be ca-‘]
B O
I, PO s a null matrix.
fol 1
@ 2 1. QFisan identity mateix of order 3.
Ul PQ=QF
17. in hew many WAYS can a  student e e
choose [n-2) courses oul of n courses
if 2 courses are compulsory (n > 4)? Which of the above isfare correct?
fal (- 3in-4) S
@ tenty. ..
®) (r-1h-2 e

fe) (n-8{n-4)/2

(d) [p=2)in=3)/2

18, It

no 20 30
D, =|n? 40 50
nd 60 70

LR - %
b ' AN )

. EI‘JH' P '_iaq a skew-symmetric matrix of
- order 3/ then what is det(F} equal ta?

15
then what is the value of ¥ Dn?

n=1 S 1
fm) -1000D W
(b} -10
fej 1
fc) 10
{d) 10000 fd) 3
'SURN-B-MTH/81A 9 [:P-Tiffs'-?_
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AL If #gin™l xscosVx=n then what s
sin~! ¢ +deos™! x cqual te?

faj n/2

22. What i3 cot’(sec™! 9+ tan?(coseclg)
equal to?

fa) 11712
B 1124
e 7724

fdj 1/24

by

23. In a triangle ABC

L ok

r A o

— s
= o =

1
F_'- o9 4 EBsB cos c

4 What is the area of the triangle if
1‘._: a=F8 emy .
b

faj 943 SOUAre om
) 12 squate cm
fe) 1843 square om

4l 24 sguare ¢m

;7 BURN-B-MTH/B1A

2
tion 7x° ~Bx+1<
24, The roots of the equa )
gre tan¢ and tan f}, where 2::.;. and
are the angles of a triangle. Which gpa

of the following 13 correct?

fa) ‘The (riangle is equilateral

{6} The triangle ie isosceles but not
right-angled
fc} The triangle is right-angled

(d)) The trangle i3 sight-angled
igosceles !

25. Ina Lnangf::ABC’;.iA =752 and £B =45",
What is 2a - bequal to?

feo 2e

d 23e

26. What 15 the _n_umb-m- of solutions of the
Equation cot2x . cot 3¢ = HorBexen?

{d’} Only one
(b} Only twa
i ﬁﬁﬂffhﬁh:-,

11 .
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27, What is the pgéneral soclution

copl00 4 w100 5 - 19
fal nm

B @n+ln

fet Znn

fd] Qe lmi2

where 51 is-an integer.

28. In a mangle ABC

tanA+tarn B+tanC=*&

ol

What iz the value of cotdeot BentCP

{a) 0.5k
(B) 1/k
(e} - 3/k
(d) 1/

29, What is sin12°sin4& equal to?
Wo-1

fa)

(b}

{cf

(d}

coal™—-ginl?

- equzal to?
coslT +sm 17

20, What is

(a) tan34°
(b} cot34°
fe}+ tan b2
(d) cot6Z

SURN-B-MTH/B1A

13

31. Congider the following numbers

L tan2%2.5¢
I, eot22.5°
I, tan2Z2 5 —¢pt29 .58

How many of the above are irrational
mnibera?

fa] Hane

f&) Only ons - .
fol. Onlw twa -
(d) AL three-.

g ) mE(%-b E]
then what js %+ y+2 equal to?
() :-1'7.__. S g ;
(B o
fe) 1
d 3
33, Ii ptan@-30°)=gtan[®+120°), then
what is (p+q) {(p —q) squal to?

faj sin 20

b cos28

EE [P0
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o 8 Lot Piany O be two nonveid relations 38, In an AP, the ratio of the sum of the {irst
R o0 ® sct A Which of the following p lerms to the sum of the first g terms
El:_? Batements are correct? la g2 g% Which one of the following
r‘:_._ L P oang 2 are’ reflexive = P s s correst?

L‘f_' o redlssrive.

F I Pang {2 are-symmeteic =P {a} The firat term iz equosal to the
&,—' Symmetric, aammon differerce

e

| T N # ang are transitve = P~

:L tl.‘Eula:uEv_- g5 {b) The first term is equal to twice the
e riffereyes

f Select the answer using the code given Cogma: i

E Below. el The common difference is chusl 1o
E_‘-_- fal 1 and 11 anly e tHe Frel term

fB) N and HI & _
¥ fd]  The firet tecm imequal to dquare of

Bl 1 snly: :
e, and I enly the common difference

E fdl I, I angd In
£
3

39. Whal i

35. IfAand Bare two non-empty sets having mber r.:rf real rasts of th

!~ 10 elements in common, then how B < End 3

mﬂﬂ}’ clements dg 4 = BHand Bwa havc + lx— 3} 2 5]' =

é IO common?

| @

" &) 20

3 fe) 40

3

;1' M 100

i 36, What is the remainder when 7" —6n is

{ divided by 36 for n=1007

& faj 0 :

. i 4 40, In a aaa;_ {‘:‘249 atudents 180 passad

3 o m ng_“h 13{’1 passed in Hindi and

: o) 2 150 3 in  Sanskrit. Purther,

E fdl 6 G0 'al_ .Im:ﬁ An conly | one subject,

. ¢ 110 passed in only two, subjects and.
37. What is the maxiimum number of m passﬁdmnunﬁ of the aub]ects How

mﬁn}' p&saed i all three subjects?

"@;ﬂfgﬁ?

possible peoints of intersection of four
straight lines and a circle {interssction
is between lines as well as eirels and

ot

;
f lines)? :
% a) © () 55
m) 10 e
= el 14
(@ 16 () 35
SURN-B-MTH/81A 15 [ B2,
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pircetleon @ Consider the {pllowing for the 43. What is the sum of el five terme?
two [DZ] items that follow @
(g 60
Let £y and Z,t be any two complex uurnb:ral
eguich that i?‘ 4 .Z ~EZg =0 b} 65
(R "
41. What is the value of |_[? . : _
3 | ' {cfy 80 ;
fa) 1 ] '
) 2 '
.3 "r e e
a4 4

42, What is the value of

%-?‘RC j—;}-’ _
@ -1 |
ml o 4
feh 1
faj 2

Direction : Consider the following for the S
two (02) items that follow ! s (d) 1

The product of 5 consecntive terms. of an AP

ts 290535, The first, second and fifth terms. -ﬂ._ﬁ;-'whﬂt is the value of (U +WW?

are in GP.
. : (a) 1/2
43, What 1s the comimnorn :jjﬁﬁ:renm:l?
@ 3 M
(85 i (@ 312
(¢} S .' s

@ 6

17 sl : Ly 2l 3 ,{PTGl
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E Dirction - Con Nsider (ke rnliomng for the Directlon : Consider the following for the A
§ twe [02) itema that fopiew two (02) items that follow : %

\‘ .
N t Let 3&‘
§  Thememsofthe quadratic equation 3 -3 4 N\
- 2 -3 4
2 ﬂgfbg _‘52}7‘:2 ‘f"b'zlrﬂﬂ-ﬂgl-\'-l- I:.‘:z{lﬂ'2 —ﬂzjr:ﬂ i i -1 1 .

are equal (a2 = b7 o c?), |
49, What i3 Afadj 4} equal to? '.
5 O 0]
47. Which one of the fallowing statements fa}.|0:5.0| /.
i correct? o 5 e :

@ a? b2 o2 ae in AP,

) &% b2 ¢* are in GP.

B s D e e
AR R E A F A i e ¥

(e a? B2 2 are in HP,

(4 a* b2 ¢? are neither in AP nor
in GP nor in HP. "

kg

48, Which one of the following is a root of
the equation?

b —a?)

(@la=" = )
a?(e? - p2)

; S fmse g
() E;E;:ﬁ | i % 'rb) hl B2 -2
atp? ~e?) L-t a2 3
a2 0
g 22t-a?) @ -4 6 -8
2a%(c? - 2 , I 6 -6}
[ 1/5 -1/8 n}
@ Lok @ 1-a/5 8fs 478l
3@3{53’""?21. bah . =218 35 -3/s]
SURN-B-MTH/BIA : SO R T
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§l. Wheat i3 32 +25 equal to il
(& =+ 67 +278) < ff v ]+ pi)
is-a null vector?
o} 36
&y 33
i) 30
{e] 27
52. For what value of the angle betwsen
the wectsrs @ and E ia the quantity
|& = E:I ++3]d - EI maximum?
faj O
b} 30°
fol 450
fdf &0°

53. Let 9 be the angle between two unit
e
vectors @ and b, I @+25 is

-
perpendicular to 53 —4b, then what
is cosd + cos26 equal to?

fal 0
fbp 172
fe) 1

J3+1
2

(d)

B4, Let ABCDEF be a regdlar hexegon.
— — — —
If AD=mBC and CF =nAB, then
what is mn egual to?
fa) -4
{b) -2
fc} 2
(@) 4

BURN-B-MTH/81A

B5. The vectars &, B and 2 sre of the same
length, If taken pairwise, they form
squil anglew, W d=1+7and b= j+ &
then wheat can & be equal to?

L f+%
:—_r_'i' 4}—E

11,
3

Select the cormmect anagwer using the code
given below,
fe) T only
{5} 1 only_
@ mowmizand it

Z ﬂe!.thw'l 'mor- 11

(B} cyclic quadrilateral

1) para]leldg.;r;ai‘ﬁ-' i
{d}xhombus;

§7. The foci of the ellipse 4x2 +9y® =1 are

at @ and R If Ply 4 i= any point cn
the ellipse, then what iz PQ+FR

squal to?
< al R e .
(B
fe) 2/3
{d 173

& RO,
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58, If p
E::Eve?;‘icomr 2 R(10, 14) and Sl 1h
bk 8 af g5 Parallelogram, |hen

SIS x4 ) equal op

fa) 8

) 1o
e/ 12
fdl 14

59. The equation of a circle js
(22 —dx 4 5 4 2 —Gy+8 =0

Which of the following statements are
carrect?

. The end Points of a diametar of t.Hle
circle are gt {1, 2} and {3, 4L :

II.  The end points of a diameter of the
circle are at (1, 4) and 32 =

. The end points of 5 diameter of the
circle are at (2, 4) and 4..2)

Select the answer using the code given
below, ' 3

fa) 1 and if only
) 11 and 111 only
fe! 1 and I only
fdf 1, 11 and 11

60. Consider the points  P@Ak 4k) and
QEk 4%} lying on  the parabola
¥? =dkx. If the vertex is A, then what
is £ PAQ equal to? '

fa) BO0°
() 90
fe) 120°
@ 135°

'/ SURN-B-MTH/B1A

Diysction 1 Censider the following  for ihe
twe [02) Htema thal follew ;

A triangle ABC ia inscribed in the circle
x? 47 = 100, B and C have ¢oordinates (5, 8)

and (-f € respeatively.

G61. Whal ia « BAC equal to?
fa) nf2
{by mifdor2ri3
fd} /b ar 3n 4
fdl n/BorBrf6

62. What are the coordinates of A7
() (-6 &) ‘

ABCD 'is an isssceles trapezium and AH ie
parallel to G, Yot AR, 3), B, 3), C( 1) be the

63, . What are the coordinates of vertex D?

fa} 2 1) (b (1, 2)
fﬂf iy (@) (3, 1}

64. What is the point of intersection of the
diagonals of the trapesium?

O T

@ 3 7/2)
) (7/2 2 (4 {5/2 2

23 [P.T.0,
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Birgetion : Consider the following for the 68, If

Ewo (02) items that foliaw . 4 m, n} are ‘direction cosines of S,

then whet s the walue of

Let 2x? 4252 4 5,2 +3x+3y+3z2-6=0 be a 430% —in? _ %7
aphere,
) . : fe2) £
©5, What iz the diemeter of the sphere?
5.3 k) 5
o) 3 /
4
fc) 4
(&) _": p—
35
o
fi/ 3
28 Directiom : Consider the f-;]]mnng for the
fd} = twao; [B:zj itema that f:;llf:-w o -

i R T

i &6. The centre of the sphere lies on the plane - Z
ALy L,
g&r f@) PBx+ly+3z—-3=0

v
L B} dx+4y+4z-3=0

fo) 4x+8y+82z-15=0

[d) Sx+B8y+B82+15=0

Direction : Consider the following for the
two (02) items that follow :

Let S be the line of intersection of two plarlﬁs
x+Yy+z=1and x4 3y—4z=8.

67. Which of the following are the direction
ratios of 57

fa} (-7, -6 1)
B (-7 & 1
e/ (-6 5 1)
(@ (655

¥ !"P.‘T‘ '_I:L

25
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71 Letz-
g‘l‘eatcgl E:::d e T Whinfe 1] st
£Eer furction, If x is not

an integﬂ'l’ bz iga
the value of 25 Fositive, then what s

o} -1
&) 0
e 1
{d] 2
F2. I flxi=4x+1 and g{xj=kx+2 such

that f e gfx) = ge f{x), then what is the
value of K7 L

fal 7
@} 5
fef 4
(d} 3

73. What is the minimum value of the
function f(x) =log,g(x? ¥2x +19?

fa) O d
(b} 1
fe) 2
(@ 10

K fel)

27T

74. Which one of the following is sSorrect

regarding lim bk £
Ead x-—3

{a} limit exists and is pgual to 1
(81 Timit exists and is squsal o O
fo)  Limit exista and is aqgual o —1

Limit does not exist

75. What is  the axdmaam  value  of
q'cpa;p_:;.f-bgirj_x__-k i s

76. If__f:@;:q_.-:q-;ﬁ +1, then for how many
- real values of x will fi(2x) be the GM
~of fix) and fi3x)?

our i

@ __
(bj Two
(e Gne
(d)

Mone

[P.T.0.
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A R i,

-‘1‘&?

=y

e e e

G

o

7T 0 fix) =[x - A0[x] +221 =0, where |x] ls
F}!E greatest integer functon, then what
Ia the zurm of all integer solutions?

(a)
B}

fc)
fd) 30

13
17
27

7B, If fix} = 9x —8Jx such that gix} = flx) -1,
thern whiclh one of the following i3

are Integers

fd}

which iz mot an integer

ap B | r'

79. What is lim [secf - tan8] equal to?

ZaE
faj -1
{B) 0
fe) 1/2
(@ 1

FiL /7?7
fa) 1[4

(b 1/2

.  SURN-B-MTH/B1A

cormrect?

fe} gfx)=0 has no real roots

(B} gix)=0 has only one real root
which i3 an integer

fe) glx) =0 hes two real roots which:

gix) =0 has only one real _"ri:r'r:é_t

80. Let f(x) flu) = flaxy) for all real X ¥.
If fi2)=4, then what is the value of

1
Dirmetion : Coneider the following for the
two (02) iterns thet follow
Let foplx)=cou? % and go fixy= [nr:'r"axi. .

81. Which one of the fnﬂuwing: is fpa?

fu} conik
) cosk? ey
ol r_::uaz-x o e

) cos|xl

Dirsotion ;5 n.suicr 1:h= following for the
two (02) items that follow ;
Let =212
83, Whatm F(0:999)+ £(1:001 equal to?
@
fef 1

(@ 2

29 fRT.o,
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o

L Fixia continuous at x = Q.

ey ’-GWMW’J*?W’EW

. Fix) is continuous nt x = 1.

is/are correct?

fal 1 only

AR A T T,

@ 11 only
fe/. Both land I

fd} Neither I nor 01

= Direction :
 two (02) items that follow :

Let fx)=cos2x+x on [-n /2, mf2.

85. What is the greatest value of flx)?

(d) g%

 SURN-B-MTH/81A

Consider the following statements -

Which of the statements given above

Consider the folluwjing for the

86, What {s tho least value of f {x)?
UL
]
frxf [ IE_;]
1. =
= —
® ~(3*3)

fe) n[J +§)

& A53)

Direction Cnns:cler the following for the
two [Dﬂ}lte‘ms that follow :

The arca bounded by the parabols y? < ke
and the line.x = k, where j > 0, is 4/3 square
units,

87. What 'i.a_ the value of k?
fﬂj!l 1/2
w1
fc) 2

(@) 2

[P1.0.

G




:
v

g§8. What is the area of the
bounded by the latus rectum?

fa) 1 & sgquare
fhl 2/3 =guare unit
fc) 1 sguare wnit

fd) 4/3 squarec units

Direction : Consider the following for the
two [02) items that follow :

let pdax+ly— i1 dy=0 be a differential
equeton. ;
89, What are the order and degree

respectively of the differential equation?

jrf 1 amd 1

{8} 1 and 2
fof 2and I
ey 1and 3

90, What is the solution of the differential

equation?

fiz) y"' +2x =0
b yt+dx=c
(o) 2xytax=¢

(d) wae gt =4

SURN-B-MTH/81A
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Direction : Conslder the following for the
twa (02) items that follow @

Let flx)=|x* - x-2[.
91, Whai is jj [ix) dxe equal to?

faf ©
bt 1
(e} 5/3
() 103

92, What is [ i) tx equal to?

v rb} 3“ Ir_'-‘l-,l'--';'_:'J"h‘"_ fres
fob A e
i

Direction ! ﬂoﬁaiﬂef the following for the
two |02} items that follow

Let fif) = In it ++1+t%) and gt = tanlflh

93, Consider the following statements :
1. fif) is an odd function.
I, git) is an odd function.
Which of the statements given ab
infare cprrect?

ave

faj 1 only
fby 1 oy
(@) Bath Eand 1

fd) MWelther 1 nor 1

[P.1,0,

e il

— o




¢ the foillowing foef e

g4. What iz (" + Conside
at iz J-_t-g{ﬂ 2 equal a2 [}hg.:lj;:]ﬂ.t;ms et Tk
two i

faj —1 |
o nf2 F00 g where flx) =ginx - and
Let. T=lo " ‘giw

gix) = sin g+ cos Xt i.

=T
fel 172

2 ,."3__(1#_ gq‘L‘LﬂJ | te i
fd 1 97. What is [ P

W |

Direction : Consider the following for the
two (02} items that follow @

Let f: (-1 )=+ R be a differentiable function
with f(0)=-land £(0)= 1 Let hix) = f27(x)42) - ...

and gix) = () *.

e e s
L .....-?..:-’_ & ,r_:___..-;__,_:fﬁ_)"{?: " ’ "

“ul ,'..: ¥

E 95. What is k(0 equal to?
i -2
. (aj
B
IL“ &) -1
é fe} O e
fd) 2
| 96. What is g(0) equal to? (o) Z=tna

fa) —

B -2

fct O

(d) 4 7]

._EURN-B—MTHIBIA as [ PT.0.
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" pirection : Consider the following for the 101. Tet x-3y+4=0 and 2x-7y+8=0 be
. swp (02) items that follow two lnes of regression cornputed from
sume bivariate data, I by, and By
are rogression cocfficients of lines of

t
e rogrossion of ¥ on x and x on ¥
2y respectively, then what is the value of
rh—
2 dv = Uix) Vix}= 3tn Ulx) + Vx4 € By + Thy?
J'w'.xz-+1
fa) -2
(b] 1
: Tyog TR
99, What is |U<fx) - V(=) | equal ta? o 2
fal © (@ S
) 1 e AR e
; 102, The mean-of &0
% fet 2 .
3 Vhat is; the value of n?
A fdr 3

A i an
100. What is U{x) V{xj equal to? :f{’-“.’ el

(@ 21
r fat 1.'rx2+x:"’ 205
; 103; Three: distinct natural numbers &
1 3 - o chogenat random from 1 to 10. What
1 (B) Vx+x is the probability that they &are
AR pq_r_xaccutive?
CR) fap 1/12
o) 2
g () 340
o 2 ey

JZrxt f@) 7/120

[P0,




104 4, B ¢ ara
and exhanar;
a random S¥Petiment. If 3P (8) =47 (4)

end 3P(C)=2p(p
th
sgual to?p (B), then what is P(a)

three - mutuslly exelusive
I'Me events associated with

fal 729
b} B/29
fe) 9/29
fdl 10/29
105. A die has two faces with number 4, three

faces with number 5 and one face with
number 6. If the die is rolled once, then

what is the probability of getting 4 or 57 AT

fa) 1/3
(b} 2/3
fc/ 5/6
fd) 1/2

106. A hox contains 2 black, 4 yellow and
6 white balls, Three balla are drawn In
succession with replacement. What is
the probability that all three are of
the same colour?
fa) 176

1/36

1712

- 5/12

107, A can Wit a target 5 timed in 6 shiots,

B ean hit 4 Himes in 5 shots and ©can
hit 3 times in 4 shota. What iz the
probability that A and © may hit bt
B may lose?

{a) 1/8
b} 1/6
fo) 174
{173

108. The letters of the werd ZOOLOGY are
in all possible waya. What is

‘r_‘na pmbabﬂtt_v,r that the consonatits and
1 vowels seeur alternatively?

Y ’_'.-ra} 5;35 e

“sau 93{1&0

50
) 24125

{4 's_afﬂﬁ_

:un. What is thn MEan dmatmn of the first

lﬂ nai:ural numbers?

fal 2
Eﬂﬁm
fe) 3
{dj 35

[P/1.0.



£l
e e -
1, Let Elxl- =855, If M is the mean and
l:

s is the standard deviation of
Xy, X Xg, then what is the value of
M2 +o2?

felt 10
) 95
(c) 90

(d) 85

112, The mean of the serles xl, Xgptty X 18 X
If %, is replaced by ﬂ-.u:n what is.
the new mean? '

- X Lk - i

fa

(B}
fc)

fcl)

Gl f‘i_'*’“ heads
ged What s the

bcr of togses

1= 'I'.'DB
succession.
that the num
less than 67

113. A fair coin
poeur  in
prubabﬂit}’
rcquirﬂd is

fa) 5/6%

ib) 1532

(a} 31;"54

d) 19732

SURN-B-MTH/B81A
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114. Urn A contains 2 white and 2 black Balls
while um B containg 3 white and
2 black balls. One ball iz transierred
from um A to um B and then a ball
12 drawn out of urn B What is the
probability that the ball is white?

faj 11/20
(B g

fe) 3/8

A and 3,

1

nt pm raﬁ*n -

Select the answer using the code given
below.

{aj 1 and Il only
fb) 1l and I only

[ and Il only

(e}




|
|

|
|
|
[
|
|
r
f

5
i
H
E
{116, Two  perfeat dic
: . € are il !
5 is the probability that the su ot
§ the numbers on the faces is '|EI
H 9 nor 107 SE
fe} 1736
‘ (b)) 5/36
fc) T7/36
fdi 29/36

117. The oceurrence of a disease m an
industry is such that the workers have
20% chanee of suffering from it, What
is the probability that out of B waorkers
chosen at random, 4 or MOTE will suffer

from the disease?
fa) 53/3125
(b) 63/3125
) T3/3125

fdl 83,3125

SURNB-MTH/B1A

118, Three perfect dice are rolled, Under the
pondlition that no two show the same
faoe, what iz the probability that onc of

{he faces shown iz an ace (onej?
fa} 5/9
B} 2/3
fc) 143
) 12
118, Three perfect dice Dy, D, and Dy
- mrerolled: ket x y and z represant
the fmmbers. ont Dy, Dy and Dy

X _'rﬁgp_'g';‘:'ﬂb'éljz What is the number of
sines such that x < y<2?

faj: lﬁ % ':_-:' ik

120. in & bitomial distribution, if the mean
. ls 6 and the standatd deviation is ¥2,
~then what are the values of the
. parameters and p respectively?
fa) 18 and 1)3
(b} 9 and 1/3
fc} 18 and 2/3




